12.2 Variability

Calculus
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12.2 Practice

| Find the following values for each data set.

1. Median
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4. Mean Absolute Deviation
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9. Median 10. Range
B [y 5 SN=36 =K
11. Mean 12. Mean Absolute Deviation
356+ 4T 4F +5) |3¢-u4) =3
k oo =2 |, 30
|76 |t~ uu) = 3 4
1 |51~ w4\ = F
1Y S
20, 32,17, 34, 41, 84
17, 30, 63, 3wy 41, 3Y
13. Median 14. Range
33 b Sl B il
15. Mean 16. Mean Absolute Deviation
#4290+ 3434+ 3y | 17738 = 2
7 2-39) = |g
;9‘8 31*38‘ = 6 R Gi
A 34-38) = y 6
41-33] = 3
33 H™-33| = LH,/




12.2 Variability 12.2 Test Prep

Use the graph below to answer 17-19.

17. Find measures of central tendency.

a. Mean = _g/& - 3.3

lo

b. Median = q . 5

c. Mode = l O

d. Are there any outliers? Yes \ 8
)

18. Find the variability.
a. Range = lg-\ = 17_

b. Mean Absolute Deviation (MAD) =
18- 4.3 = 9.2 |10~ 9.8)= 1.2 |2-9.3] = ©.x .€
|N-g.3]=22 |\o-‘3.8\= Lx  |6-9%g|= &8 P 33.0%

lo- 3.9\ =1. % |2~%.3\=0.> H_c“‘i ;r,S
19. Describe the sugar in the cereals shown above. ' l - %g\ - '?

Most cereals have around 9 or 10 grams of sugar. The average is 8.8 grams.

18 is an outlier, but a small one so it doesn’t really throw mean off. To be safe, we could
use the median of 9.5 grams to describe the central tendency.

The mean absolute deviation is 3.08.




